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INSTRUCTIONS TO CANDIDATES

* Write your name, centre number and candidate
number in the boxes on the first page. Please write
clearly and in capital letters.

 Use black ink. Pencil may be used for graphs and
diagrams only.

e Read each question carefully. Make sure you know
what you have to do before starting your answer.

e Answer ALL the questions.

e Answer Section A, questions 1-15, on the answer
sheet provided. You are advised to spend no more
than 20 minutes on Section A.

e On completion of Section A move directly on to
Sections B and C.

e Answer Sections B and C in the spaces provided on
the question paper.

e Write your answer to each question in the space
provided. If additional space is required, you should
use the lined pages at the end of this question paper.
The question number(s) must be clearly shown.

e Additional paper may also be used if necessary.



INFORMATION FOR CANDIDATES

The number of marks is given in brackets [ ] at the
end of each question or part question.

The total number of marks for this paper is 75. Section
A comprises 20% of the available marks, Sections B
and C comprise 80% of the available marks.

Up to 5 marks are awarded for quality of written
communication within Section C.



SECTION A: MULTIPLE CHOICE

Answer ALL questions in this section using the separate
answer sheet provided.

You are advised to spend no more than 20 minutes on
this section of the paper.

QUESTIONS 1 AND 2 REFER TO THE FOLLOWING
PASSAGE:

There has been an increase in the sale of Fair Trade
products in supermarkets because people want to
support small businesses in developing countries. Fair
Trade helps these small businesses to get a better price
for their products. Despite the apparent success of this
approach, it is not clear that Fair Trade is beneficial to
developing countries. Many people feel that by buying
Fair Trade products they are doing enough to support
developing countries. They are therefore less likely to
donate money to overseas development charities.

1 Which of the following is the MAIN CONCLUSION of
the above argument?

(a) It is not clear that Fair Trade is beneficial to
developing countries.

(b) Many people are less likely to donate money to
overseas development charities.

(c) Many people feel that by buying Fair Trade
products they are doing enough to support
developing countries.

(d) There has been an increase in the sale of Fair
Trade products in supermarkets.

[1]
4



2 What is the name given to the following ARGUMENT
ELEMENT in the above passage?

“People want to support small businesses in
developing countries.”

(a) Evidence
(b) Explanation
(c) Intermediate conclusion

(d) Reason

[1]



QUESTION 3 REFERS TO THE FOLLOWING PASSAGE:

UK researchers have found that clenching fists before
blood is taken can raise potassium levels in the blood
test, potentially confusing results. In a study looking at
200,000 tests, when staff were told not to ask patients to
clench fists, the number of cases of high potassium fell
significantly. Many doctors want to ask patients to clench
fists before blood is taken as this makes the veins stand
out more clearly.

3 Which of the following is the CONCLUSION THAT CAN
BEST BE DRAWN from the above passage?

(a) Doctors should be retrained in how they practise
medicine.

(b) Doctors should find a different method of making
veins stand out clearly.

(c) Doctors should ignore blood tests which show a
high level of potassium.

(d) Doctors should not use blood test results to
diagnose medical conditions.

[1]



QUESTIONS 4 AND 5 REFER TO THE FOLLOWING
PASSAGE:

Many people are willing to spend thousands of pounds
on sophisticated camera equipment but in most

cases expensive digital cameras are pointless. The

most common problems with photographs are bad
composition and poor timing, and a new camera will

not improve your composition or help you to be in the
right place at the right time. Instead of expensive camera
equipment, most people should spend their money on
photography lessons.

4 Which of the following is an INTERMEDIATE
CONCLUSION of the above argument?

(a) A new camera will not improve your composition
or help you to be in the right place at the right
time.

(b) In most cases expensive digital cameras are
pointless.

(c) Instead of expensive camera equipment, most
people should spend their money on photography
lessons.

(d) The most common problems with photographs are
bad composition and poor timing.
[1]



5 Which of the following is the BEST STATEMENT of the
FLAW in the above argument?

(a) Bad composition and poor timing are not the only
causes of bad photographs.

(b) It is generalising from bad photographers to all
photographers.

(c) The argument conflates expense and
sophistication.

(d) The argument restricts the options to expensive
camera equipment or photography lessons.
[1]



QUESTIONS 6 AND 7 REFER TO THE FOLLOWING
PASSAGE:

People are always complaining that politicians are liars, but
it is voters, not politicians, who are to blame for politicians’
lies. Voters like politicians who tell them everything will get
better if their party wins. The electorate does not vote for
honest politicians who admit the negative consequences
of their views. Voters encourage politicians to lie.

6 Which of the following is the MAIN CONCLUSION of
the above argument?

(a) It is voters, not politicians, who are to blame for
politicians’ lies.

(b) People are always complaining that politicians are
liars.

(c) Voters encourage politicians to lie.

(d) Voters like politicians who tell them everything will
get better if their party wins.
[1]

7 Which of the following is the BEST STATEMENT of a
WEAKNESS in the above argument?

(a) Even if a policy has some negative consequences,
it may be a good policy.

(b) It is possible that we should blame both voters
and politicians.

(c) It is unlikely that voters want politicians to lie.
(d) Most people lie occasionally.

[1]
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QUESTIONS 8,9 AND 10 REFER TO THE FOLLOWING
PASSAGE:

The majority of women who have had a fracture are not
getting treatment to prevent future breaks. A Cambridge
University study shows that of 1,600 women going to a
fracture clinic, a third have had a previous break but only
a small number have been put on bone-strengthening
drugs. The health service should increase the number of
women that join bone-strengthening drug programmes.
Doctors must make more effort to advertise these drugs
to women with repeated breaks.

8 Which of the following is the INTERMEDIATE
CONCLUSION of the above argument?

(a) Doctors must make more effort to advertise these
drugs to women with repeated breaks.

(b) Only a small number have been put on bone-
strengthening drugs.

(c) The health service should increase the number
of women that join bone-strengthening drug
programmes.

(d) The majority of women who have had a fracture
are not getting treatment to prevent future breaks.

[1]

10



9 Which of the following is a PRINCIPLE which would
BEST SUPPORT the above argument?

(a) Doctors should try to avoid unnecessarily
prescribing drugs.

(b) Medicine should aim to prevent future harm.

(c) Patients should be given a range of treatment
choices.

(d) Women are more likely than men to break their
bones.

[1]
10 Which of the following, if true, would MOST

STRENGTHEN the above argument?

(a) Long-term use of bone-protection drugs may have
side effects.

(b) Some combinations of drugs are harmful.

(c) Treating fractures costs more than providing
bone-strengthening drugs.

(d) Women are aware of the drugs but choose not to
use them.
[1]
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QUESTIONS 11 AND 12 REFER TO THE FOLLOWING
PASSAGE:

To do well in public exams, students need to make sure
they are not sleep deprived. Therefore they should have
at least nine hours’ sleep on the night before an exam.
Tests have shown that after 18 hours of being awake,
performance is equivalent to having drunk three units of
alcohol. So lack of sleep clearly affects performance.

11 A student responded, “You can interrupt 18 hours of
being awake with even half an hour of sleep.”

Which of the following BEST DESCRIBES the
student’s response?

(a) It challenges the intermediate conclusion.
(b) It contradicts the evidence.
(c) It disproves the conclusion.

(d) It indicates a weakness with the use of the evidence.

[1]

12



12 Which of the following is an UNDERLYING
ASSUMPTION of the above argument?

(a) Alcohol affects people in the same way.

(b) A significant number of students have less than
nine hours of sleep before exams currently.

(c) Performance usually declines after three units of
alcohol.

(d) Some people are more confident after drinking
alcohol.

[1]

13



QUESTIONS 13, 14 AND 15 REFER TO THE FOLLOWING
PASSAGE:

The British Museum has a set of bronzes which were
taken from the Kingdom of Benin, now part of Nigeria,

in 1897. Nigeria now wants them back. But the British
Museum has refused to return many other artefacts over
the years; for instance it has frequently refused to return
the Parthenon Marbles, which were taken from Athens in
the 1800s and which Greece wants back. Since the British
Museum has decided not to return other items, it must
not return the Benin Bronzes either.

13 What is the name given to the following ARGUMENT
ELEMENT in the above passage?

“... it has frequently refused to return the Parthenon
Marbles ...”

(a) Counter-assertion
(b) Evidence
(c) Example

(d) Reason

[1]

14



14 Which of the following, if true, would MOST
STRENGTHEN the above argument?

(a) The British Museum has the best expertise to
preserve and display ancient artefacts.

(b) The British Museum is very popular with tourists
from all over the world.

(c) The majority of the Benin Bronzes are on display
in the British Museum, not in storage.

(d) The Parthenon Marbles were not being cared for
properly in 19t" century Greece.
[1]

15 The above argument contains a FLAW in the
reasoning. The flaw would be BEST DESCRIBED as:

(a) Circular argument
(b) Hasty generalisation
(c) Post hoc

(d) Reasoning from wrong actions

[1]
Section A Total [15]
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SECTION B — ANALYSING AND EVALUATING ARGUMENT
Answer ALL questions.
READ THE PASSAGE IN THE RESOURCE BOOKLET.

YOU SHOULD USE THE EXACT WORDS OF THE AUTHOR
IN YOUR ANSWERS TO 16 (a), (b) AND (c).

16 (a) State the MAIN CONCLUSION of the argument
presented in paragraphs 1 to 5.

[2]

(b) State a COUNTER-ASSERTION in paragraphs
1to 5.

[2]

16



(c) State TWO INTERMEDIATE CONCLUSIONS in
paragraphs 1 to 5.

(i)

[2]

(ii)

[2]

17 Paragraph 1 gives the following explanation for the
increase in the number of homes with internet access:

“most homes have internet access now that it has
become cheaper.”

Give TWO ALTERNATIVE EXPLANATIONS.

(i)

[1]

(ii)

[1]

17



18 Evaluate the reasoning in paragraph 3 and the
support it gives to the author’s overall argument. You
should make TWO points about WEAKNESSES AND/

OR FLAWS.

(i)

[3]

(ii)

[3]

19 Suggest a PRINCIPLE that would SUPPORT the
argument made in paragraph 4.

[2]

18



20 The reasoning in paragraph 4 uses an ANALOGY.

(a) State precisely what is being compared in this
analogy.

[3]

(b) Make ONE point of evaluation about this analogy.
You must explain how effectively it supports the
author’s reasoning.

[4]

19



21

22

In paragraph 5, the author says that the student is
unlikely to do as well in her Law course because of
not practising the right skills. What do we need to
assume about the Law course for this to be true?

[2]

The response given by Kevins_Mum uses an APPEAL.
Name the appeal and explain why using it may not
give strong support to her argument.

(a) Name [1]

(b) Explanation

[2]
Section B Total [30]
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SECTION C — DEVELOPING YOUR OWN ARGUMENTS

Answer ALL questions.

23 ‘Teachers should not set homework that involves the
use of the internet.

Give TWO reasons which SUPPORT this claim.

(i) Reason 1:

[2]

(ii) Reason 2:

[2]

24 The response given by Dr_Net claims “it is more
dangerous to take risks away from children” than to
expose them to risks.

Give ONE example other than internet use that would
SUPPORT this claim.

Example

[2]

21



25 ‘The Government should provide funds to give
laptops to pupils in low-income families.’

Write your own argument to SUPPORT OR
CHALLENGE this claim.

Marks will be given for a well-structured and
developed argument. You should include AT LEAST
THREE REASONS, a well-supported intermediate
conclusion and a main conclusion. Your argument
may also contain other argument elements.

You may use information and ideas from the passage,
but you must use them to form a new argument. No
credit will be given for repeating the arguments in the
passage.

22



23

[12]



26 ‘Schools should focus on getting children interested
in sport rather than encouraging them to use ICT.

Write your own argument that SUPPORTS OR
CHALLENGES the above claim.

Marks will be given for a well-structured and
developed argument. You should include AT LEAST
THREE REASONS, a well-supported intermediate
conclusion and a main conclusion. Your argument
may also contain other argument elements.

You may use information and ideas from the passage,
but you must use them to form a new argument. No
credit will be given for repeating the arguments in the
passage.

24



25

[12]
Section C Total [30]

Paper Total [75]



ADDITIONAL PAGE

If you use this lined page to complete an answer to any
question, the question number MUST be clearly shown.
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If you use these lined pages to complete an answer to any
question, the question number MUST be clearly shown.

31



OCR¥

RECOGNISING ACHIEVEMENT

Copyright Information

OCR is committed to seeking permission to reproduce all third-party content
that it uses in its assessment materials. OCR has attempted to identify and
contact all copyright holders whose work is used in this paper. To avoid the
issue of disclosure of answer-related information to candidates, all copyright
acknowledgements are reproduced in the OCR Copyright Acknowledgements
Booklet. This is produced for each series of examinations and is freely
available to download from our public website (www.ocr.org.uk) after the live
examination series.

If OCR has unwittingly failed to correctly acknowledge or clear any
third-party content in this assessment material, OCR will be happy to correct
its mistake at the earliest possible opportunity.

For queries or further information please contact the Copyright Team, First
Floor, 9 Hills Road, Cambridge CB2 1GE.

OCR is part of the Cambridge Assessment Group; Cambridge Assessment
is the brand name of University of Cambridge Local Examinations Syndicate
(UCLES), which is itself a department of the University of Cambridge.

32




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 15%)
  /CalRGBProfile (ColorMatch RGB)
  /CalCMYKProfile (U.S. Sheetfed Uncoated v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Preserve
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.245 841.846]
>> setpagedevice


